mean # PXL hits vs eta

| mean # PXL Layers with measurement vs eta

A N ' ' ' ' ' N
2 F & & 5
< I ol : : : P Q 45
oY S N S S A S ks
2 F e ; i, T 4
Y [ W . 5 pooe e 2
L = : : : & I g
1A S NSRS PSS e S B Bl
[ g : 5 : 3
c] ESNSNEE SNSRI SN NN [N NS 2.5
F 2
5 T 15
1:_ _________ ___________________________________________________________ 1:— ''''''''''''''''''''''''''''''''''''''''''''''''''''''
- T e
_I 1 1 1 i 1 1 11 11 1 1 11 1 1 ||||i|||| :I 1 1 1 i 1 1 1 1 11 1 1 11 1 1 11 1 1 11 1 1
N o g =of-
o 1.05F - ﬁ ----------- I R i --------- N
y : : : “"-*itmawm“* MM
o * ‘ﬁx‘#m’s’%m‘ﬁ#*i.h T e vt
237 =2 -1 0 2 0923

0.95

L.
N
1 L.
=

—=— DQM_original_stepZ_tibar-phasel-newgeom

mean # STRIP hits V|

— DQM plerCPETempIateCutChnSquareS step

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-
—— DQM_pixelCPETemplateCutChiSquarel5_step2_ttbar-phasel-newgeom

newgeom

2_ttbar- phasel newgeom_test

<strip hits>

9

<strip Iayers>

8
7
6
5
4
3
2

1

......................

Q

Ratio

15

TR - ég*

| =




	Contents
	Page 1


